# Natural Decomposition Method for Analytical solutions of Linear and Nonlinear Newell-Whitehead-Segel Model 

S.O. Edeki ${ }^{1 *}$, A. Abolarinwa ${ }^{2}$, and P.O. Ogunniyi ${ }^{3}$<br>1,3 Department Mathematics<br>Covenant University, Ota<br>NIGERIA<br>${ }^{2}$ Department of Physical Sciences, Landmark University, Omu-Aran, NIGERIA<br>${ }^{\text {1* }}$ soedeki@yahoo.com


#### Abstract

In this paper, natural transform combined with decomposition method is applied to the Newell-Whitehead-Segel model for analytical solutions. For the purpose of illustration, examples on linear and nonlinear are considered. The results show efficiency, reliability, and simplicity of the proposed method. Hence, it is recommended for highly nonlinear differential models and systems.


Key-Words: - Analytical solutions; Decomposition Method; Newell-Whitehead-Segel model

## 1 Introduction

Modeling real life situations deals with the applications of differential equations either in the form of linear, nonlinear, ordinary, or partial. In most cases, these nonlinear versions are hard to solve in terms of analytical or exact solutions (despite their immense roles). As such, there is need for reliable and efficient approximate or semianalytical methods or schemes such as the decomposition, and integral transform methods [115]. In this present work, consideration will be on one of the vital models referred to as Newell-Whitehead-Segel model equation (NWSME) whose general form is given as:

$$
\left\{\begin{array}{l}
\psi_{t}(x, t)=\left\{\begin{array}{l}
a \psi_{x x}(x, t)+b \psi(x, t) \\
-c \psi^{\kappa}(x, t),
\end{array}\right\}  \tag{1}\\
\psi(x, 0)=h(x),
\end{array}\right.
$$

where $b, c \in \mathbb{R}$, and $a, \kappa \in \mathbb{Z}^{+}$.
The NWSME has found applications in different areas of pure and applied sciences: nonlinear optics, biological systems, Rayleigh-Benard convection, and so on. In recent times, the NWSME in (1) has attracted the attention of many researchers in terms of solution methods [16-21]. Other methods for solving differential models include of [22-25]. This present work aims at combining natural transform
method with decomposition method for analytical solutions of Newell-Whitehead-Segel Model of any form (linear and nonlinear).

## 2 Natural Transform and Natural Decomposition Method

The preliminaries of Natural Transform (NT), and its basic properties are given in this section [26-28]. Let $H$ be a class of functions such that:

$$
H=\left\{g(t): \exists c, k_{1}, k_{2}>0 \ni|g(t)|<c e^{t t k_{i}}\right\},
$$

then, the natural transform of $g(t)$ is defined and denoted as:

$$
\begin{equation*}
\mathrm{N}[g(t)]=Q(s, \varphi)=\int_{0}^{\infty} g(\varphi t) e^{-s t} d t, t \in[0, \infty) \tag{2}
\end{equation*}
$$

provided the integral in the left hand side exists. As a consequence, the Inverse Natural Transform (INT) associated with (3) is defined and denoted as:

$$
\begin{equation*}
\mathrm{N}^{-1}\{\mathrm{~N}[g(t)]\}=\mathrm{N}^{-1}\{Q(s, \varphi)\}=g(t) . \tag{3}
\end{equation*}
$$

### 2.1.1 Properties of Natural Transform

 Considering $\mathrm{N}[\cdot]$, some of the properties associated with the NT are noted in [P1-P6] as follows:P1 $\mathrm{N}[1]=\frac{1}{S}$

P2 $\mathrm{N}[t]=\frac{\varphi}{s^{2}}$
P3 $\mathrm{N}\left[t^{n}\right]=\frac{n!\varphi^{n}}{s^{n+1}}, n \geq 0$
P4 $\mathrm{N}\left[e^{\vartheta t}\right]=\frac{1}{s-\vartheta \varphi}$
P5 $\mathrm{N}[\cos (\vartheta t)]=\frac{s}{s^{2}+(\vartheta \varphi)^{2}}$
P6 $\mathrm{N}[\sin (\vartheta t)]=\frac{\vartheta \varphi}{s^{2}+(\vartheta \varphi)^{2}}$

### 2.1.2 Natural Transform of Derivatives

For a continuous function, $g(x, t)$ in $A$ as defined earlier, we have the following:
$\mathrm{D} 1\left\{\begin{array}{l}\mathrm{N}\left[g_{t}\right]=\frac{s}{\varphi} Q(s, \varphi)-\frac{g(x, 0)}{\varphi} \\ \mathrm{N}\left[\frac{\partial^{n} g}{\partial t^{n}}\right]=\frac{s^{n}}{\varphi^{n}} Q(s, \varphi)-\sum_{j=0}^{n-1} \frac{s^{n-j-1}}{\varphi^{n-j}} g^{(j)}(x, 0)\end{array}\right.$

D2 $\quad \mathrm{N}\left[\frac{\partial^{n} g}{\partial x^{n}}\right]=\frac{\partial^{n}}{\partial x^{n}}[Q(s, \varphi)]$

### 2.1.3. Natural Decomposition Method

Let a general nonlinear nonhomogeneous partial differential equation be defined as:

$$
\left\{\begin{array}{l}
D p(x, t)+R p(x, t)+\Xi p(x, t)=h(x, t)  \tag{4}\\
p(x, 0)=m(x)
\end{array}\right.
$$

where $D$ is a first order differential operator in $t$, $R$ is the remaining part of the linear differential operator, $\Xi$ and $h(x, t)$ are nonlinear differential operator and source term respectively.
So taking the natural transform of (4) gives:

$$
\begin{align*}
& N[D p(x, t)]=\left\{\begin{array}{l}
N[h(x, t)] \\
-N\left[\binom{R p(x, t)}{+N p(x, t)}\right]
\end{array}\right\}  \tag{5}\\
& \Rightarrow \frac{s}{\varphi} Q(s, \varphi)-\frac{p(x, 0)}{\varphi}=\left\{\begin{array}{l}
N\left[\begin{array}{l}
h(x, t)] \\
-N\left[\binom{R p(x, t)}{+\Xi p(x, t)}\right]
\end{array}\right.
\end{array} .\left\{\begin{array}{l}
\text { (5) }
\end{array}\right.\right. \tag{6}
\end{align*}
$$

Showing that:

$$
\begin{equation*}
Q(s, \varphi)=\binom{\frac{m(x)}{s}+\frac{\varphi}{s} N[h(x, t)]}{-\frac{\varphi}{s} N[(R p(x, t)+\Xi p(x, t))]} . \tag{7}
\end{equation*}
$$

So, taking the Inverse Natural Transform (INT) $L_{t}^{-1}(\cdot)$ on both sides of $(7)$ gives:
$\left\{\begin{array}{l}p(x, t)=G(x, t)-N^{-1}\left\{\frac{\varphi}{s} N\left[\binom{R p(x, t)}{+\Xi p(x, t)}\right]\right\}, \\ G(x, t)=N^{-1}\left\{\frac{m(x)}{s}+\frac{\varphi}{s} N[h(x, t)]\right\} .\end{array}\right.$
Suppose the solution and the nonlinear term are expressed as follows according to Adomian and its polynomial:

$$
\left\{\begin{array}{l}
p(x, t)=\sum_{n=0}^{\infty} p_{n}(x, t)  \tag{9}\\
\Xi p(x, t)=\sum_{n=0}^{\infty} A_{n}
\end{array}\right.
$$

and $A_{n}$ defined as:

$$
\begin{equation*}
A_{n}=\frac{1}{n!} \frac{\partial^{n}}{\partial \lambda^{n}}\left[N\left(\sum_{i=0}^{n} \lambda^{i} p_{i}\right)\right]_{\lambda=0} \tag{10}
\end{equation*}
$$

Thus, (8) becomes:

$$
\sum_{n=0}^{\infty} p_{n}(x, t)=\left\{\begin{array}{l}
G(x, t)\}  \tag{11}\\
-N^{-1}\left\{\begin{array}{l}
\frac{\varphi}{S} N\left[\binom{R\left(\sum_{n=0}^{\infty} p_{n}(x, t)\right)}{+\left(\sum_{n=0}^{\infty} A_{n}\right)}\right]
\end{array} . . . .\right.
\end{array}\right.
$$

Therefore, the solution $p(x, t)$ is determined via the recursive relation:

$$
\left\{\begin{array}{l}
p_{0}=\widetilde{N}^{-1}\left\{\frac{m(x)}{s}+\frac{\varphi}{s} \widetilde{N}[h(x, t)]\right\}  \tag{12}\\
p_{n+1}=-\widetilde{N}^{-1}\left\{\frac{\varphi}{s} \widetilde{N}\left[\left(R\left(p_{n}\right)+A_{n}\right)\right]\right\}, n \geq 0
\end{array}\right.
$$

Whence, $p(x, t)$ is finalized as:

$$
\begin{equation*}
p(x, t)=\lim _{N \rightarrow \infty} \sum_{n=0}^{N} p_{n} \tag{13}
\end{equation*}
$$

## 3 Examples

Case 1: Let the following linear NWSE [1, 21] be considered:

$$
\left\{\begin{array}{l}
\psi_{t}-\psi_{x x}+3 \psi=0,  \tag{14}\\
\psi(x, 0)=e^{2 x}
\end{array}\right.
$$

with an exact solution:

$$
\begin{equation*}
\psi(x, t)=e^{2 x+t} . \tag{15}
\end{equation*}
$$

## Procedure w.r.t Case 1:

By applying the N -transform to (14), we have:

$$
\begin{align*}
& N\left[\psi_{t}\right]=N\left[\psi_{x x}-3 \psi\right] .  \tag{16}\\
& \Rightarrow \frac{s}{\omega} R(s, \omega)-\frac{\psi(s, 0)}{\omega}=N\left[\psi_{x x}-3 \psi\right] .  \tag{17}\\
& \therefore R(s, \omega)=\frac{\psi(s, 0)}{s}+\frac{\omega}{s} N\left[\psi_{x x}-3 \psi\right] . \tag{18}
\end{align*}
$$

Applying the N -inverse, $N^{-1}[\cdot]$ and the initial condition to (18) gives:

$$
\begin{align*}
N^{-1}\{R(s, \omega)\} & =N^{-1}\left\{\frac{e^{2 x}}{s}\right\}+N^{-1}\left\{\frac{\omega}{s} N\left[\psi_{x x}-3 \psi\right]\right\} \\
& =e^{2 x} N^{-1}\left\{\frac{1}{s}\right\}+N^{-1}\left\{\frac{\omega}{s} N\left[\psi_{x x}-3 \psi\right]\right\} . \tag{19}
\end{align*}
$$

That implies that:

$$
\begin{equation*}
\psi(x, t)=e^{2 x}+\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\psi_{x x}-3 \psi\right]\right\} . \tag{20}
\end{equation*}
$$

Expressing the solution in series (Adomian) form:

$$
\begin{equation*}
\psi(x, t)=\psi=\sum_{n=0}^{\infty} \psi_{n} \tag{21}
\end{equation*}
$$

applied to (19) gives:

$$
\begin{equation*}
\sum_{n=0}^{\infty} \psi_{n}=e^{2 x}+N^{-1}\left\{\frac{\omega}{s} N\left[\sum_{n=0}^{\infty}\left(\psi_{n}\right)_{x x}-3 \sum_{n=0}^{\infty}\left(\psi_{n}\right)\right]\right\} . \tag{22}
\end{equation*}
$$

Hence, the recursive relation:

$$
\left\{\begin{array}{l}
\psi_{0}=e^{2 x}  \tag{23}\\
\psi_{n+1}=\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(\psi_{n}\right)_{x x}-3\left(\psi_{n}\right)\right]\right\} .
\end{array}\right.
$$

As such, for $n \geq 1$, we have the following:

$$
\begin{aligned}
\psi_{1} & =\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(\psi_{0}\right)_{x x}-3\left(\psi_{0}\right)\right]\right\} \\
& =\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(e^{2 x}\right)_{x x}-3\left(e^{2 x}\right)\right]\right\} \\
& =\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[e^{2 x}\right]\right\} \\
& =e^{2 x} \widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}[1]\right\} \\
& =e^{2 x} \widetilde{N}^{-1}\left\{\frac{\omega}{s^{2}}\right\}=t e^{2 x} \\
\psi_{2} & =\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(\psi_{1}\right)_{x x}-3\left(\psi_{1}\right)\right]\right\} \\
& =\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(t e^{2 x}\right)_{x x}-3\left(t e^{2 x}\right)\right]\right\} \\
& =e^{2 x} \widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}[t]\right\} \\
& =e^{2 x} \widetilde{N}^{-1}\left\{\omega^{2} s^{-3}\right\} \\
& =\frac{t^{2}}{2!} e^{2 x}
\end{aligned}
$$

$$
\psi_{3}=\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(\psi_{2}\right)_{x x}-3\left(\psi_{2}\right)\right]\right\}
$$

$$
=e^{2 x} \widetilde{N}^{-1}\left\{\omega^{3} s^{-4}\right\}
$$

$$
=\frac{t^{3}}{3!} e^{2 x}
$$

$$
\psi_{4}=\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(\psi_{3}\right)_{x x}-3\left(\psi_{3}\right)\right]\right\}
$$

$$
=e^{2 x} \widetilde{N}^{-1}\left\{\omega^{4} s^{-5}\right\}
$$

$$
=\frac{t^{4}}{4!} e^{2 x}
$$

$$
\vdots
$$

$$
\psi_{k}=\widetilde{N}^{-1}\left\{\frac{\omega}{s} \widetilde{N}\left[\left(\psi_{k-1}\right)_{x x}-3\left(\psi_{k-1}\right)\right]\right\}
$$

$$
=e^{2 x} \widetilde{N}^{-1}\left\{\omega^{k} s^{k-1}\right\}
$$

$$
=\frac{t^{k}}{k!} e^{2 x} .
$$

Hence,

$$
\begin{align*}
\psi(x, t) & =\lim _{M \rightarrow \infty} \sum_{n=0}^{M} \psi_{n} \\
& =e^{2 x} \sum_{n=0}^{\infty} \frac{t^{k}}{k!}=e^{2 x+t} \tag{24}
\end{align*}
$$

Equation (24) corresponds to the exact solution of the classical NWSE obtained in [1, 21].

Case 2: Consider the following nonlinear NWSE [1, 21]:

$$
\left\{\begin{array}{l}
\psi_{t}=5 \psi_{x x}+2 \psi+\psi^{2}  \tag{25}\\
\psi(x, 0)=\lambda
\end{array}\right.
$$

## Procedure w.r.t Case 2:

By applying the N -transform to (25), we have:
$N\left[\psi_{t}\right]=N\left[5 \psi_{x x}+2 \psi+\psi^{2}\right]$.
$\Rightarrow \frac{s}{\omega} R(s, \omega)-\frac{\psi(s, 0)}{\omega}=\left\{\begin{array}{l}5 N\left[\psi_{x x}\right] \\ +2 N[\psi]+N\left[\psi^{2}\right]\end{array}\right\}$.
$\Rightarrow \underbrace{R(s, \omega)}_{N[\psi]}=\frac{\lambda}{s}+\frac{\omega}{s}\left\{5 N\left[\psi_{x x}\right]+2 N[\psi]+N\left[\psi^{2}\right]\right\}$.
$\Rightarrow N[\psi]-\frac{2 \omega}{s} N[\psi]=\frac{\lambda}{s}+\frac{\omega}{s}\left\{5 N\left[\psi_{x x}\right]+N\left[\psi^{2}\right]\right\}$.
Thus,
$\left(\frac{s-2 \omega}{s}\right) N[\psi]=\frac{\lambda}{s}+\frac{\omega}{s}\left\{5 N\left[\psi_{x x}\right]+N\left[\psi^{2}\right]\right\}$.
$\therefore N[\psi]=\left(\frac{1}{s-2 \omega}\right)\left\{\lambda+\omega\left(5 N\left[\psi_{x x}\right]+N\left[\psi^{2}\right]\right)\right\}$.

Applying the N -inverse, $N^{-1}[\cdot]$ to (31) gives:

$$
\begin{align*}
& \lambda N^{-1}\left\{\frac{1}{s-2 \omega}\right\} \\
N^{-1}\{N[\psi]\}= &  \tag{32}\\
& +N^{-1}\left\{\left(\begin{array}{l}
\frac{5 \omega}{s-2 \omega} N\left[\psi_{x x}\right] \\
+\frac{\omega}{s-2 \omega} N\left[\psi^{2}\right]
\end{array}\right]\right\}
\end{align*}
$$

Expressing the solution in series via (21), produces (32) as:

$$
\left\{\begin{array}{l}
\sum_{n=0}^{\infty} \psi_{n}=\lambda e^{2 t}+N^{-1}\left\{\left(\begin{array}{l}
\frac{5 \omega}{s-2 \omega} N\left[\sum_{n=0}^{\infty}\left(\psi_{n}\right)_{x x}\right] \\
+\frac{\omega}{s-2 \omega} N\left[\sum_{n=0}^{\infty} A_{n}\right]
\end{array}\right]\right\}, \\
\psi=\sum_{n=0}^{\infty} \psi_{n}, \psi^{2}=\sum_{n=0}^{\infty} A_{n} . \tag{33}
\end{array}\right.
$$

Thus, the corresponding recursive relation is:

$$
\left\{\begin{array}{l}
\psi_{0}=\lambda e^{2 t}  \tag{34}\\
\psi_{n+1}=\widetilde{N}^{-1}\left\{\binom{\frac{5 \omega}{s-2 \omega} \widetilde{N}\left[\left(\psi_{n}\right)_{x x}\right]}{+\frac{\omega}{s-2 \omega} \widetilde{N}\left[A_{n}\right]}\right\}, n \geq 1,
\end{array}\right.
$$

where the first few Adomian polynomials are:

$$
\left\{\begin{array}{l}
A_{0}=\psi_{1}^{2}, \\
A_{1}=2 \psi_{0} \psi_{1}, \\
A_{2}=2 \psi_{0} \psi_{2}+\psi_{1}^{2}, \\
A_{3}=2 \psi_{0} \psi_{3}+2 \psi_{1} \psi_{2}, \\
\vdots
\end{array}\right.
$$

As such,

$$
\begin{aligned}
\psi_{1} & =N^{-1}\left\{\left(\frac{5 \omega}{s-2 \omega} N\left[\left(\psi_{0}\right)_{x x}\right]+\frac{\omega}{s-2 \omega} N\left[A_{0}\right]\right)\right\} \\
& =\lambda^{2} N^{-1}\left\{\left(\frac{\omega}{s-2 \omega} N\left[e^{4 t}\right]\right)\right\} \\
& =\lambda^{2} N^{-1}\left\{\left(\frac{\omega}{(s-2 \omega)(s-4 \omega)}\right)\right\} \\
& =\frac{\lambda^{2}}{2} N^{-1}\left\{\left(\frac{1}{(s-4 \omega)}-\frac{1}{(s-2 \omega)}\right)\right\} \\
& =\frac{\lambda^{2} e^{2 t}}{2}\left(e^{2 t}-1\right)
\end{aligned}
$$

$$
\begin{aligned}
\psi_{2} & =N^{-1}\left\{\left(\frac{5 \omega}{s-2 \omega} N\left[\left(\psi_{1}\right)_{x x}\right]+\frac{\omega}{s-2 \omega} N\left[A_{1}\right]\right)\right\} \\
& =N^{-1}\left\{\left(\frac{\omega}{s-2 \omega} N\left[\left(2\left(\lambda e^{2 t}\right)\left(\frac{\lambda^{2} e^{2 t}}{2}\left(e^{2 t}-1\right)\right)\right)\right]\right)\right\} \\
& =\lambda^{3} N^{-1}\left\{\left(\frac{\omega}{s-2 \omega} N\left[e^{6 t}-e^{4 t}\right]\right)\right\} \\
& =\lambda^{3} N^{-1}\left\{\left(\frac{\omega}{s-2 \omega}\left(\frac{1}{s-6 \omega}-\frac{1}{s-4 \omega}\right)\right)\right\} \\
& =2 \lambda^{3} N^{-1}\left\{\left(\frac{\omega^{2}}{(s-2 \omega)(s-4 \omega)(s-6 \omega)}\right)\right\} \\
& =\frac{1}{4} \lambda^{3}\left(e^{6 t}+e^{2 t}-2 e^{4 t}\right) \\
& =\frac{1}{4} \lambda^{3}\left(e^{2 t}-1\right)^{2} e^{2 t}
\end{aligned}
$$

In a similar manner,

$$
\begin{aligned}
& \psi_{3}=\frac{1}{8} \lambda^{4}\left(e^{2 t}-1\right)^{3} e^{2 t}, \\
& \psi_{4}=\frac{1}{16} \lambda^{5}\left(e^{2 t}-1\right)^{4} e^{2 t}, \\
& \psi_{5}=\frac{1}{32} \lambda^{6}\left(e^{2 t}-1\right)^{5} e^{2 t},
\end{aligned}
$$

!
In general, we have:

$$
\begin{align*}
& \psi_{k}=\frac{\lambda^{k+1}}{(2)^{k}}\left(e^{2 t}-1\right)^{k} e^{2 t}, k \geq 0 \text {. }  \tag{35}\\
& \therefore \psi(x, t)=\lim _{M \rightarrow \infty} \sum_{k=0}^{M} \psi_{k} \\
& =\left(\lambda+\frac{\lambda^{2}}{2}\left(e^{2 t}-1\right)+\frac{\lambda^{3}}{4}\left(e^{2 t}-1\right)^{2}+\cdots\right) e^{2 t} . \tag{36}
\end{align*}
$$

The bracketed expression in (36) is a geometric series with first term, $a=\lambda$ and a common ratio, $r=\frac{\lambda}{2}\left(e^{2 t}-1\right)$. Hence,

$$
\begin{equation*}
\psi(x, t)=\left(\frac{2 \lambda e^{2 t}}{2+\lambda\left(1-e^{2 t}\right)}\right) . \tag{37}
\end{equation*}
$$

The graphical solutions are presented in Fig. 1 and Fig. 2 for Case 1 and Case 2 respectively.


Figure1: NDM Exact and Approximate solution of Case 1


Figure 2: NDM Exact and Approximate solutions of Case 2 at $\eta=0.5$

## 4 Concluding Remarks

This work has successfully applied Natural Decomposition Method (NDM) to the Newell-Whitehead-Segel Model for analytical solutions by considering both linear and nonlinear forms of the NWSME. The results showed that the NDM is efficient, effective and reliable. The solutions were expressed in closed form with less computational time involvement. The NDM can be extended to highly nonlinear NWSME and other related differential models.

## Acknowledgment

The authors thank Covenant University for all forms of support. All constructive and helpful remarks
from the anonymous referee(s) are highly appreciated.

## References:

[1] P. Pue-on, Laplace Adomian Decomposition Method for Solving Newell-Whitehead-Segel Equation, Applied Mathematical Sciences, 7 (132), (2013), 6593-6600.
[2] A. Ghorbani and J. S. Nadjfi, He's homotopy perturbation method for calculating Adomian's polynomials, Int. J. Nonlin. Sci. Num. Simul. 8 (2) (2007), 229-332.
[3] J. Saberi-Nadjafi, A. Ghorbani, He's homotopy perturbation method: an effective tool for solving nonlinear integral and integrodifferential equations, Computers \& Mathematics with Applications, 58, (2009):1345-1351.
[4] J. Patade, and S. Bhalekar, Approximate analytical solutions of Newell-WhiteheadSegel equation using a new iterative method, World Journal of Modelling and Simulation, 11 (2), (2015): 94-103.
[5] M.M. Rashidi, The modified differential transform method for solving MHD boundarylayer equations, Comput Phys Commun, 180, (2009):2210-7.
[6] J. Singh, D. Kumar and S. Rathore, Application of Homotopy Perturbation Transform Method for Solving Linear and Nonlinear KleinGordon Equations, Journal of Information and Computing Science, 7 (2), (2012): 131-139.
[7] A.M. Wazwaz, M.S. Mehanna, The combined Laplace-Adomian method for handling singular integral equation of heat transfer, Int $J$ Nonlinear Sci. 10 (2010): 248-52.
[8] S.O. Edeki, and G.O. Akinlabi, Coupled method for solving time-fractional navier stokes equation, International Journal of Circuits, Systems and Signal Processing, 12 (2017), 27-34.
[9] J.H. He, Homotopy perturbation method: A new nonlinear analytical technique, Appl. Math. Comput. 135 (2003):73-79.
[10] G.O. Akinlabi and S.O. Edeki, On Approximate and Closed-form Solution Method for Initial-value Wave-like Models, International Journal of Pure and Applied Mathematics, 107(2), (2016): 449-456.
[11] S.O. Edeki, O.O. Ugbebor, and E.A. Owoloko, He's polynomials for analytical solutions of the Black-Scholes pricing model for stock option valuation, Proceedings of the World Congress on Engineering 2016, Vol II, WCE 2016, June 29 - July 1, 2016, London, U.K.
[12] H.K. Mishra and A.K. Nagar, He-Laplace Method for Linear and Nonlinear Partial Differential Equations," Journal of Applied Mathematics, (2012), 1-16.
[13] S.O. Edeki, G.O. Akinlabi, and S. A. Adeosun, On a modified transformation method for exact and approximate solutions of linear Schrödinger equations, AIP Conference Proceedings 1705, 020048 (2016); doi: 10.1063/1.4940296.
[14] J.H. He, A coupling method of homotopy techniques and perturbation technique for nonlinear problems, International Journal of Non-Linear Mechanics, 35(1) (2000): 37-43.
[15] S.O. Edeki, G.O. Akinlabi and S.A. Adeosun, Analytic and Numerical Solutions of TimeFractional Linear Schrödinger Equation, Comm Math Appl, 7 (1), (2016): 1-10.
[16] S.O. Edeki, O.P. Ogundile, B. Osoba, G.A. Adeyemi, F.O. Egara, S.A. Ejoh, Coupled FCT-HP for Analytical Solutions of the Generalized Time-Fractional Newell-Whitehead-Segel Equation, WSEAS Transactions on Systems and Control, 13 (2018).
[17] S.A. Manaa, An Approximate solution to the Newell-Whitehead-Segel equation by the Adomian decomposition method, Raf. J. Comp. Math. 8(1), (2011), 171-180.
[18] A. Aasaraai, Analytic solution for Newell-Whitehead-Segel equation by differential transform method, Middle-East J. Sci. Res. 10 (2), (2011), 270-273.
[19] A. Saravanan, N. Magesh, A comparison between the reduced differential transform
method and the Adomian decomposition method for the Newell- Whitehead-Segel equation, J. Egyptian Math. Soc, 21 (2013), 259-265.
[20] J.E. Macias-Diaz, J. Ruiz-Ramirez, A nonstandard symmetry-preserving method to compute bounded solutions of a generalized Newell-Whitehead- Segel equation, Appl Numer. Math, 61, (2011), 630-640.
[21] M.M.A. Mahgoub, Homotopy Perturbation Method for Solving Newell-Whitehead-Segel Equation, Advances in Theoretical and Applied Mathematics, 11 (4), (2016): 399-406.
[22] G.O. Akinlabi, R.B. Adeniyi, E.A. Owoloko, The solution of boundary value problems with mixed boundary conditions via boundary value methods, International Journal of Circuits, Systems and Signal Processing, 12, (2018), 16.
[23] M.M. Khader, On the numerical solutionsto nonliear biochemical reaction model using Picard-Pade technique, World Journal of Modelling and Simulation, (2012) 38-46.
[24] G.O. Akinlabi, R.B. Adeniyi, E.A. Owoloko, Hybrid boundary value methods for the solution of first order stiff systems, International Journal of Circuits, Systems and Signal Processing, 11, (2017), 332-337.
[25] R. Mokhtari, A. S. Toodar and N. G. Chegini, Application of the generalized differential quadrature method in solving Burgers' equations, Commun. Theor. Phys. 56 (6), (2011), 1009.
[26] Z.H. Khan, W.A. Khan, N-Transform Properties and Applications, NUST Journal of Engineering Sciences, 1 (1), (2008): 127-133.
[27] F.B.M. Belgacem and R. Silambarasan, Theory of natural transform, Math. Eng. Sci. Aerospace (MESA) 3 (1), (2012), 99-124.
[28] R. Silambarasan and F.B.M. Belgacem, Applications of the Natural transform to Maxwell's equations, Progress of Electromagnetic Research Symposium Proc. Suzhou, China, (2011), 899-902.

